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QUESTION 1

In your project there is a top level Sequencer job which has multiple sub sequencers and jobs. You have to move this
Sequencer job to a new project. How do you determine which objects have to be exported?

A. Select top level sequencer job and click on "Export" option

B. Select top level sequencer job and click on "Find dependencies” option

C. Select top level sequencer job and click on "Find dependencies (deep)" option

D. Select top level sequencer job and click on "Edit->Job Properties -> Dependencies”

Correct Answer: D

QUESTION 2

Which of the following will determine the running row number within a group?

A. Insert an Aggregator stage, hashing on the key column, prior to the Transformer stage

B. Use a Surrogate Key Generator stage to generate the running row number prior to the Transformer stage

C. Use a Remove Duplicates stage prior to the Transformer stage based on the key column, with the Duplicate set to
retain = last option

D. Use a Sort stage prior to the Transformer stage based on the key break column. Then, use the LastRowinGroup()
function to determine the last row in a group

Correct Answer: D

QUESTION 3

Which of the following is an FTP Collection method?
A. Hash

B. Same

C. Random

D. Sort Merge

Correct Answer: D

QUESTION 4

You want to retain the record with the largest value in the TotalAmount column for each CustID and ProductType using
a Remove Duplicates stage. How can this be accomplished?
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A. Hash partition on TotalAmount. Sort on CustID, ProductType and TotalAmount

B. Hash partition on ProductType. Sort on CustID, ProductType and TotalAmount

C. Hash partition on CustID and ProductType. Sort on CustID, ProductType and TotalAmount

D. Hash partition on CustID, ProductType and TotalAmount. Sort on CustID, ProductType and TotalAmount

Correct Answer: C

QUESTION 5

Consider a customer with multiple environments, Development, Test and Production. Which statement is TRUE?
A. Each environment must have a C++ compiler.

B. QualityStage rule sets are not a type of deployable asset.

C. Itis not possible to revert to a previous version of a package.

D. A package can contain an improved version of a job which will replace the old one.

Correct Answer: B

QUESTION 6

Which of the following environment variables can help in verifying whether data is evenly partitioned across all nodes?
A. $OSH_PRINT_SCHEMAS

B. $APT_RECORD_COUNTS

C. $APT_PARTITION_COUNT

D. $APT_DEBUG_OPERATOR

Correct Answer: A

QUESTION 7

Which statement about shared containers is TRUE?

A. A shared container is an independently compiled unit

B. A local container can be converted to a shared container

C. A shared container can be converted to a local container

D. A container cannot be created by selecting a group of stages and links in a job

Correct Answer: B
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QUESTION 8

To run multiple copies of the same job within Director, which of the following must be supplied?
A. Job name

B. Invocation ID

C. Parameter values

D. Username and password

Correct Answer: C

QUESTION 9

Which of the following is TRUE when using a data set created with a 4 node config file?
A. Data sets are operating system files

B. Data is stored in a non-persistent form

C. The data set control file holds all your data

D. A Data Set stage can have 1 input link and multiple output links

Correct Answer: B

QUESTION 10

Which of the following is NOT TRUE about the DataStage job score?

A. It includes the operators automatically inserted at runtime

B. It helps to determine the number of actual operating system processes

C. It reports the amount of memory used by the inter-operator transport buffers

D. It outlines the connection topology between adjacent operators and persistent data sets

Correct Answer: B

QUESTION 11

When you read or write to a sequential file, and wish to have a value be identified with DataStage as NULL, which of the
following is the correct option?

A. Set format\\'s fill char option using the value
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B. Set string type default option using the value
C. Set format\\'s null field value option using the value
D. Set $APT_IMPEXP_REJECT_NULLS using the value

Correct Answer: B

QUESTION 12

Archive files can contain assets from multiple exports of multiple tools. When importing into a project from an archive file
with the istool command, which order of asset types below would yield the best performance?

A. Users and groups, Common metadata, InfoSphere DataStage and QualityStage assets, Reports, Custom attributes
for InfoSphere Information Covernance Catalog

B. Common metadata, Users and groups, Custom attributes for InfoSphere Information Governance Catalog,
InfoSphere DataStage and QualityStage assets, Reports

C. Common metadata, Users and groups, Custom attributes for InfoSphere Information Governance Catalog,
InfoSphere Data Stage and QualityStage assets

D. Users and groups, Common metadata, InfoSphere DataStage and QualityStage assets, Custom attributes for
InfoSphere Information Governance Catalog, Reports

Correct Answer: A

QUESTION 13

Which of the following are valid stage options for a parallel DataStage job which uses a configuration file with multiple
nodes and a File Connector as a source running in parallel mode? (Choose two.)

A. Provide a specific file name in the file name property.
B. In the file name property, provide a file name with a wildcard that matches the existing file names.

C. Provide a specific file name in the file name property and select the option "Number of Readers Per Node" to be
greater than 1.

D. Set the read method with specific file(s), set the Read From Multiple Nodes = yes, and provide the specific file in the
file property.

E. Set the read method with a file pattern and provide a file name with a wildcard that matches the existing file names in
the file pattern property.

Correct Answer: CD

QUESTION 14

When building an UPDATE statement in SQL Query builder, which of the following is TRUE?
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A. Predicates cannot refine what rows are updated

B. Table(s) referenced must have table definitions imported previously

C. Column values can be job parameters or input columns but not expressions

D. Columns to update must be selected individually from the column selection grid

Correct Answer: D

QUESTION 15

Your job consists of a DB2 Connector stage followed by a Sort stage followed by a Transformer stage followed by
another DB2 Connector stage. The following two Balanced Optimizer options have been selected: Push processing to
data sources Push processing to data targets The following two Balanced Optimizer options have NOT been selected:
Push data reduction processing to data targets Push all processing into the (target) data server Assuming the job design
allows for maximum optimization, what does the optimized job design look like?

A. Row Generator stage followed by a DB2 Connector stage

B. DB2 Connector stage followed by a DB2 Connector stage

C. DB2 stage followed by a Transformer stage followed by a DB2 Connector stage

D. DB2 Connector stage followed by a Sort stage followed by a Transformer stage followed by another DB2 Connector
stage

Correct Answer: A
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